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G1 =90 9 0 0 9
G2 |60~89 27 1 | 32
G G3a |45~59 4
F
R G3b [30~44 1
X
X G4 15~29 2
(mus/anm) |gs <15 0
<EH 0
&t 39 3 6 0 48
[ B & ) - =
s = T2 DR IR 0D 7 TEDR IR +
HRIRIR A8 2D RS%L 20D YR HY
SBELHbATC6. 5L £, -1, % 14 % 34
{ =] *El 1 S w A,y , KO — Haﬁﬁﬁ = == ,
ARy ookO—L FTERERL| LDL—C = [0 [ JiE | =5 PR B i i
ZLE 3004 E 120LL L IELDE ]| 710k
# 23 1 19 16 3
% 479 2.1 39.6 33.3 6.3
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£ 1)

A1l A2 A3 >Nz g
SRR EHELE (a)
GFR-W%E&%(:%ML’C?\%%‘ 542 9 5 0 556
B A AN
MR 751 (b/a) P e e T
(=) (++)
.1 =) | P+
G1 =90 3 0 0 3
G2 |60~89 31 1 0 32
G G3a |45~59 5
F
R G3b |30~44 2
X
A G4 |15~29 1
(mus/anm) |gs <15 0
<EH 0
&t 40 2 1 0 43
[ B & ) - =
s = TE DR 97 0D 7 TEDR IR +
HERRIR A8 2D RS%L 20D YRS HY
SBELHbATC6.5LL B, -1, % I % 32
{ =] *El 1 S w A,y , KO — Haﬁﬁﬁ = = ,
ARy ookO—L FTERERL | LDL—C = [0 [ JiE | =5 PR B i i
ZuE 300LL E 120LL IELDE | 710k
# 23 0 15 6 710k
% 53.5 0.0 349 14.0 16.3
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SCYRHET

A1 A2 A3 A<ER s
SRR EHELE (a)
GFR-W%E&%(:%ML’C?\%%‘ 983 33 19 0 1,035
B A AN
PRI R 785V (b/a) I e e T
(=) (++)
105 =) | P+
G1 =90 8 1 1 10
G2 |60~89 60 4 3 67
G G3a |45~59 25
F
R G3b |30~44 7
X
Vi G4 15~29 0
(mus/anm) |gs <15 0
N 0
&t 95 8 6 0 109
[ B & ) . o
s = T2 DR IR 0D 7 TEDR IR +
IR AI85Y ZDHOYRHEL 20 R5HY
SBELHbATC6. 5L £, -1, % 23 % 86
BED (HbAIcT0XRELED)) % 211 % 8.9
{ =] *El 1 S w A,y , KO — Haﬁﬁﬁ = == ,
ARy ookO—L FTERERL| LDL—C = [0 [ JiE | =5 PR B i i
ZLE 3004 E 120LL L IELDE ]| 710k
# 64 5 44 23 16
% 58.7 4.6 404 21.1 14.7
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26THATH ||

Al A2 A3 Z<ER 5
SRR EHELE (a)
CFREER w:%wﬁé% 69,048 | 2,408 | 1,106 0 72,562
o AE AN
MR R 51 (b/2) T
(=) (++)
10.6 (+) (+) (++4)
G1 =90 1,145 93 50 0 1,288
G2 |60~89 4410 293 173 0 4,876
G G3a |45~59 0 1,223
F
R G3b |30~44 0 249
X
Vi G4 15~29 0 66
(mU/5/1.73m) |5 <15 0 10
PN 0 0
&t 6,731 557 424 0 7,712 saeh
[ B & ) o o
s = TE bR 97 0D 7 TEDR IR +
HRIRERAI85Y ZOHDYRS%L 20D YRS HY
SBELHbATC6.5LL B, -1, % 1,765 % 5947
[ B 8 ] T/ s T = e ,
AR yoookO0—L FTERERL | LDL—C = [0 [ JiE | =5 PR B i i
ZuE 300LL E 12080 L I[ELE 710 E
# 3,865 367 3,580 2574 784
% 50.1 48 46.4 33.4 10.2
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ESEINS

A1 A2 A3 A<ER A5
SRR EBE (a) 317 4 1 0 322
B A AN
PR R I8 (b/a) I e e T
(=) (++)
43 =) | P+
G1 =90 0
G2 |60~89 0
G G3a |45~59 0
F
R G3b |30~44 0
X
v G4 |15~29 0
(mus/anm) |gs <15 0
<EH 14
&t 14 0 0 0 14
[ B & ) - o
s = T2 DR IR 0D 7 TEDR IR +
IR AI85Y 2D RS%L 20D YR HY
SBELHbATC6. 5L £, -1, % S % 0
{ =] *El 1 S w A,y , KO — Haﬁﬁﬁ = == ,
ARy ookO—L FTERERL| LDL—C = [0 [ JiE | =5 PR B i i
ZLE 3004 E 120LL L IELDE ]| 710k
] 0 1 8 0 RE
% 0.0 7.1 57.1 0.0
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i EETE R

A1 A2 A3 Z<ER s
SRR EBE (a) 855 10 5 0 870
B A AN
MR R 51 (b/2) P e e T
(=) (++)
7.6 (=) | P |+
G1 =90 9 0 0 9
G2 |60~89 37 3 1 41
G G3a |45~59 12
F
R G3b |30~44 4
X
Vi G4 15~29 0
(mus/anm) |gs <15 0
N 0
a5t 59 4 3 0 66
[ B & ) - o
s = TE DR 97 0D 7 TEDR IR +
HRIRERAI85Y 2D RS%L 20D YRS HY
SBELHbATC6.5LL B, -1, % 35 % 3
{ =] *El 1 S w A,y , KO — Haﬁﬁﬁ = = ,
ARy ookO—L FTERERL | LDL—C = [0 [ JiE | =5 PR B i i
ZuE 300LL E 120LL IELDE | 710k
5 29 2 27 20 6
% 43.9 3.0 40.9 30.3 9.1
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26$ETH+I’£EHE-‘@$4I’£EHEEH%||

A1 A2 A3 A<ER A5
SRR EBE (a) 70,220 2422 | 1,112 0 73,754
B A AN
PR R I8 (b/a) I e e T
(=) (++)
106 = | P+
G1 =90 1,154 93 50 0 1,297
G2 |60~89 4,447 296 174 0 4917
G G3a |45~59 0 1,235
F
R G3b |30~44 0 253
X
Vi G4 15~29 0 66
(mU/5/1.73m) |5 <15 0 10
BH 0 14
&t 6,804 561 427 0 7,792
[ B & ) - o
s = T2 DR IR 0D 7 TEDR IR +
IR AI85Y 2D RS%L 20D YR HY
SBELHbATC6. 5L £, -1, % 1,809 % 5.983
[ B 8 ] ST S - i . _
ARy ooor0—L FTERERL| LDL—C = [0 [ JiE | =5 PR B i i
ZLE 3004 E 120LL L IELDE ]| 710k
# 3,894 370 3,615 2,594 790
% 50.0 47 46.4 33.3 10.1
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